PART-II
GENERAL APTITUDE TEST

101. Which figure should come in place of question mark (?)

VI
® D

o [
0 [B

(d) None of the above

102. If f(z) = (8 —%J, then

1
f(z) +f (E) has the value

(@) 16
(b) 0

1
(c) 4+
(d) 1
103. If the cost of two books and five pens is ¥ 225 and the cost of four pens and three books is
¥ 320, then what is the cost of one pen ?
(@ 7
(b) ©
(c) 4
(d 5
104. If X: 11 12 13
Y:13 12 11
then covariance is
(a) —2/3
(b) 0
() -1
(d) 2/3
105. The probability of getting a sum 10 in the throw of two dices is

(a)
(b)
(c)
(d)
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{11
AT gheg uRieroT
101. w¥=aTas fae (7) & ®&F W &I 91 faz 37 =@ifed

Q|
(a)@

o [B
(©) @

(d) 3§ 9 i Tel
102. ‘Q%f(z}=(8—l],?ﬁ

8
fiz) + f [%)a?rm‘ér
(a) 16
By "0

1
© 3

(d 1
103. If 31 foparal wam Ui shert &1 qed ¥ 225 ¥ 3% AR worwl aun dF fearat % ged 7 320 &
U oA i hIHd o1 & ?
(@ 7
b) 6
() 4
d 5
104. I X: 11 12 13
Y:13 12 11
Al WE-wEor g
(a) -2/3
(b) 0O
() -1
(d) 2/3

105. = 9160 % ISR WA 10 foer $ g e
(a)

(b)
(c)
(d)
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106. How many triangles are there in the following figure ?

(a) 8
b 9
(c) 12
(d) 15

107. Which of the following is most affected, by extreme values of the variable ?
(a) Median
(b) Mode
(c) Arithmetic Mean
(d) None of the above

108. Choose the diagram that illustrates the relationship of Females, Mothers and Post-graduates.

(1) 2) ) @

(@) 1
(b) 2
(c) 3
(d 4

109. Complete the series :
Sunday, Monday, Wednesday,
Saturday, Wednesday, Monday, _ _
(a) Sunday, Sunday
(b) Sunday, Monday
(¢) Sunday, Wednesday
(d) Sunday, Saturday
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106.

107.

108.

109.

SAL

Fretfetfiar o e BrgeT & 2

(a)
(b)
(c)
(d)

91 ® | SF T, W % Iegad 9 a9 godl ¥ gaiusw qeifed g e ?

(a)
(b)
(c)
(d)

I AN P! TG IS 1 TSR, |G SR SRl & graei ol ZiTd &R &

12

15

TifeaeHt

EGED
HHR HYEY

IR § W FlE AG

(1) 2) 3) )

(a)
(b)
(©)
(d)
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110.

111.

112.

113.

114.

115.

116.

Which of the following planets takes the longest time for one revolution round the Sun ?

(a) Earth
(b) Saturn
(c) Jupiter
(d) Mars

A drop of water is spherical in shape. This is due to :
(a) Surface tension

(b) Low temperature

(c) Airresistance

(d) Viscosity of water

Which one of the following Indian Banks is not a nationalised bank ?
(a) Corporation Bank

(b) Dena Bank

(¢) ICICI Bank

(d) Vijaya Bank

Who among the following invented Lasers ?
(a) Theodore Maiman

(b) Denis Papin

(c) William Morton

(d) Francis Crick

Who is the President of the Council of Scientific and Industrial Research ?
(a) President of India

(b) Vice-President of India

(c) Prime Minister of India

(d) Union Minister of Science and Technology

Which one of the following States is smallest in area ?
(a) U.P.

(b) M.P.

(c) Rajasthan

(d) Uttarakhand

The moons of the Planet Jupiter was discovered by any one of the following scientist :

(a) Newton
(b) Galileo
(c) Kepler

(d) Copernicus
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110, 7= | & 19 T 78 G = UF T oA § Fad Jfus qH ol & ?
(a) e
(b) ¥
(c) e

(d) =T

111. T & 5 TR 2t €, $HH HROT
(a) TEddE
(b) A ATIHEH
(c) g ufeidry
(d) STeT ol TET

112. F e dei 9 9 S 91 TLEF b A8 § 2
(a) HRURYA g%
(b) TAEEH
(c) JTREIMIMET ME I
(d) fa=mn %

113, f7=7 0 | fFas &R 1 aftaesr fm 2
(a) Togrerdgum.
(b) sfm uf=
(c) faferam A
(d) Iy

114, “Hif~ge1 3% QrEi=iFs vd wefega fwa” 1 g $H €2
(a) WA & TegAf
(b) U % ST
(c) WA % W Hat
(d) i fafTe e aRg v Tt
115. 7 9 € 39 91 T, &%l § Head 911 € 7
(a) I WY
(b) W WRW
(c) =T=H
(d) ITETE

116. Jewdic 7e & TH1eA i @ist e H4 e T danfes = i o 2
(a) =A
(b) Tieiteral
(c) =R
(d) HREAHT
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117.

118.

119.

120.

121.

122.

The energy of winds is
(a) only potential
(b) only kinetic

(c) Electrical

(d) Potential and kinetic both

The *Standard Deviation’ of natural numbers from 1 to 5 is
(a) 2.0

(b) 1414

(c) 1.48

(d) 1.46

7 6 ;
The difference between 3 and 7 of a number is 20, then the number is

(a) 1140
(b) 1120
(c) 1136
(d) 1132
The Central Statistical Unit was established in the year
(a) 1947
(b) 1949
(c) 1951
(d) 1961

A passenger travels from Delhi to Meerut at a speed of 30 km/hr and return with a speed of
60 km/hr. What is his average speed ?

(a) 40
(b) 45
(¢) 50
(d) 48

Shoe size of most of the people in India is No.8. Which measure of central value does it
represent 7

(a) Mean
(b) Median
(c) Mode

(d) Fourth decile

123. Suresh types 150 words in 4 minutes and Mohan types 150 words in 5 minutes, then in how
much time they together type 375 words ?
25
(a) 3 minutes
(b) 3 minutes
50
(c) 9 minutes
(0) 5 minutes
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117. &7 Ht FA et &
(a) o fefast
(b) haet s

(c) e
(d) feafest si ifest <=

118. Wighces G@araii 1 | 5 @ ol “HEd fager T &
(@ 2.0
(b)y 1414
(c) 148
d) 146

119. wémﬂv%waﬁé:g F AL AR 20 8, At HET T

(a) 1140
(b) 1120
(c) 1136
(d) 1132

120. F= Hiterat 3oTE St = o ad g8 off, 9E &
(@ 1947
(b) 1949
(c) 1951
(d) 1961

121. U= IE feeelt @ 92 30 feut ufq 9o =i nfa @ San & 34X 60 forrt wid =2v2 =5t nfa @ amom a1
¥ | SUS HET a2
(a) 40
(b) 45
C(¢) 50
(d) 48

122. |EE: WRA | S[Al 1 3THR § T I &1 & | 98 i 6 5 vgfa o wfaffue st & 2
(a) wrE" '
(b) wfegehr
(c) SEeTH
(d) = <

123. Q1 4 foFe | 150 W 2T T 8, STaiw qed 5 e § 150 g, o 9ared 375 v U 9@y
2189 L §U o TohaT GH ol ?
(a) 23—51”147{
b) 3fFe
50
(c) -9—ﬁ=|'—|2'
@) 5fre
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124, Ifx : 3 4 5

w1 D 18 21
then equation of y can be represented as
(a) y=3x+2 :
(b) y=3x+6
fe) y=x+12
d y=2x+9

125. Which of the following cannot be obtained by graphical method ?
(a)  Arithmetic Mean

(b) Median
(c) Mode
(d) Quartile

126. In a frequency distribution which of the following may have more than one value ?
(a) Arithmetic Mean
(b) Median
(¢) Mode
(d) Geometric Mean

127. The value of the polynomial expression :
x* —4x + 3is zero if x is

(a) Oor2
(b)y 3orl
(c) loréd
(d) —-2o0r2

128. For a distribution Mean is 70, Median is 75 and Coefficient of Skewness is (—) 0.8. The
coefficient of variation is

(a) 85
(b) 2678
(c) 2568
@ 7250

129. The sum of binomial coefficients in the expansion of (1 + x)" is

(a) 2"
(b) 2"-1
(£)-2" + 1
@ ",

130. If|A,|= 15, |A,| =8, |A;| =6 and |A,; N A, " Ay =3 then [A, U A, U A,| will be

(a) 32

(b) less than or equal to 23
(c) greater than 32

(d) greater than 23
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124.

125.

126.

127.

128.

129.

130.

SAL

gegnzan g 5

y + 15 18 21
ﬁﬁ}yaﬂﬂﬁﬂﬂ'ﬂﬁﬂ%’:
(a) y=3x+2
(b) y=3x+6
6) ¥w=x+12
(d y=2x+9

fe o 9 Terrept o et A | e @t i ?
(a) HAT HIA

(b) wfeeRt

(c) “Egoh

(d) wgdF

ue armgfa faaror o Fret o & foress U ¥ aifs A 8 W © 2
(a) A AT

(b) T

(c) g

(d) T "

TE T b X —4x + 3 FAAIE S, A x
(a) 0 37ar 2

(b) 3 3FaT |

(c) 1 FYar4

(d) -2 3EmET+2

ot et 1 e 70, TfeAET 75 3T Faawat Ui (—) 0.8 #, ot fame Tunie &

(a) 85

(b) 26.78
(c) 25.68
(d) 72.50

(1 +x)" % famar ¥ fug il S I e
(@) 27

b)) 2n-1

ey 201

(d "C,

(A, = 15, |Ay| = 8, |A| =6 HTIA, N A, N Ay =37 T A UA, U A &
(a) 32
(b) 23 % SR 41 3TE HH
(c) 32¥"ag
(d) 23"ag
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131.

132.

134,

135.

136.

On a circle of radius 4 units, there are two points P and Q. The maximum length of arc
which separates P and Q is : (where = 22/7)

(a) 8m
(b) 4nm
(c) 4

d 2=

The arithmetic mean of some observations is — 4 and harmonic mean is — 9. The geometric
mean will be

@ -—13
b) -6

() -18
(d) -36

. Twenty years ago the ratio between the ages of Hari and Manu was 1 : 4 and at present, it is

I : 2. What is the age of Hari at present ?
(a) 25 years

(b) 30 years

(c) 35 years

(d) None of the above

What will be the next number in the following sequence ?
9,8;8,8;7,8;6,

(a) 4
(b)y 5
(c) 6
(d) 8

Which one is the wrong term in the series ?
8,13,21,32,47, 63, 83,

(a) 21
(b) 13
(c) 83
(d) 47

If the length and breadth of a rectangle are each decreased by 20%, then the percentage
decrease in area of the rectangle will be

(a) 20%
(b) 40%
(c) 36%

(d) None of these
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131.

132,

133.

134.

135.

136.

SAL

4 =TS P el g W @) farg P 3 Q ¥ 1 39 W bt stfusher wwvars St fg P 3T Q i e
AT €, & (S8 W = 22/7)

(a) 8m

(by 4n

() 4

d 2=n

T AT 1 WATRI HIEA — 4 T &0ca /1 — 9 & | 7O Hre &

(@ -13
(b) -6

() -—18
(d) -36

s o 7 ST T Y SR F A 1 ;4 1 I o1 AT A § qE A 12 2 ¥ | AAHH
o &t it a1y fopert & 2

(a) 25ad

(b) 3059

(c) 35

(d) - 30Ea § Q@ B FE

1 je@eT T ST 3ie T B ?
9,8;8,8;7 86,
(a) 4
(b)y 5
() 6
(d 8
1 ol § TTeTd 9g i W E 2
8 13,21.32,47,63,83,
{a) 21
(b) 13
(c) 83
(d) 47

o U AEA H e AT e ¥ ¥ uAE B 20% wer far 9, o 3§ A & aEwd 7
wicrerd, ST g

@ 20%

(b) 40%

(c) 36%

(d) 3ulied | 9 HIE TR
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137.

138.

139.

140.

141.

142.

143.

The smallest number which when reduced by 7, is divisible by 12, 16, 18, 21 is

(a) 1008
(b) 1015
(c) 1022
(d 1032

Which one will replace the question mark ?

(a) 40

(b) 46

() 96

(d) 75

In the sequence 462, 420, 380, x, 300, x is
(a) 322 '

(b) 332

(c) 342

(d) 352

The word which cannot be formed using the letters of the word
‘TRANSPORT’ is :

(a) SPORT
(b) STRAP
(c) TRUST
(d) START

Which of the following options is not related with presentation of data ?
(a) Editing of data

(b) Statistical tables

(¢) Diagram

(d) Graph

The product of two numbers is 120 and the sum of their square is 289. The sum of numbers
will be

(a) 20

(b) 23

(¢) 169

(d 7

Five girls are sitting on a bench to be photographed. Seema is to the left of Rani and to the

right of Bindu. Mary is to the left of Rani. Reeta is between Rani and Mary. Who is sitting
immediately right to Reeta ?

(a) Bindu
(b) Rani
(¢) Mary
(d) Seema
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137, 9% 811 1 B e T 7 9eH | & 12, 16, 18w 21 & fasaifore & 9, &
(a) 1008
(b) 1015
(c) 1022
(d 1032

138, e Fere 1 i Wi O 2

(a) 40
(b)

(c) 96
d 75

139. W 40T 462, 420, 380, x, 306 dx#
(a) 322
(b) 332
(c) 342
(d) 352

140, 9% 9= < 5 9T “TRANSPORT & 3R 1 TERT o e S ST G, &
(a) SPORT
(b) STRAP
(¢) TRUST
(d) START

141. frer i § AT Fe St TR @ w6 E 2
(a) SRSl T FHIEA
(b) @i FROl
(c) NG
(d) @

142. 2 GEATE &1 UG 120 ¥ Ts ST =it AN 289 , A 3wt 1 ar e
(a) 20
(b) 23
(c) 169
d) 7

143, e srefeRat e e T P 3 fert 49 ¥ | e T % el o e e o T W A

rﬁ”féﬁmﬁm%1ﬁm.ﬁaﬁwﬁﬁ$aﬁaﬁ%,?ﬁﬁmaawmﬁwﬁ=rﬂa%?
(a) T3
(b) T
(c) =l
(d)
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144. If the value of mode is 25.5 and the value of median is 16.5, the value of Arithmetic Mean

will be
(a) 13.5
(b) 9.0
(¢) 125
(d)y 12
145. Which of the following is most viscous ?
(a) Alcohol
(b) Water
(c) Honey

(d) Gasoline

146. Stars of extremely high densities are called
(a) Supernova
(b) Neutron stars
(c) Binary stars
(d) Asteroids

147. Which of the following is the sum of prime numbers lying between 15 and 30 ?

(a) 103

(b) 90

(c) 118

(d) 88

148. Find out the missing number :

-1,0,1,8,27,7

(a) -24

(b) 44

(c) 60

(d) o4

149. 1. A3P means A is the mother of P.
2. AA4P means A is the brother of P.
3. A9P means A is the husband of P.
4. AS5P means A is the daughter of P.
Which of the following means that K is the mother-in-law of M ?
(a) MON3K4J
(b) MONSK3J
(c) KS5J9M3N
(d) K3J9N4M

150. If the median of the following observations is 26, the value of x is :

10, 12, 15, 17, x + 2, x + 4, 31, 33, 36, 42
(@) 24
(b) 23
) 31
d 17
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144,

145.

146.

147.

148.

149.

150.

SAL

. ageTE 1 WA 25.5 TUT WIREHT 6 A 16.5 &, Al FHIR A H A w0

(a) 13.5
(b) 9.0
(c) 125
@ 12

7 O | B 91 qad 34 @A ¢ ?
(a) Tl

(b) U

(c) @Y

(d) T

(a) FTAET

(b) g =

(¢) aET w=r

(d) u=lEEH

fre o @ B 15 99 30 & e | o7 ATl 3 SIS TR € 2
(a) 103

(b) 90

() 118

(d) 88

mmwaﬁaﬂﬁm

~1,0.1.827.7

(a) 24

(b) 44

(c) 60

(d) 64

. AJPHI I efF A PHIHIE |

2. APH IEETHAPFUET |

3. APH I EfH A, PHIUAE |

4, ASPHISEEFA PRI THE I
g fram e e fF K, M AT A@ € 2
(a) MOYN3K4)

(b) MIN5K3J

(c) KS5I9M3N

(d) K3J9N4M

Afe fer el & TS 26 8 x FIHH &
10,12, 15, 17. 8+ 2, %+ 4, 31,33.36, 42

(a) 24

(b) 23

(c) 31

(d) 17
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